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' 1. Evaluate the limit or explain why it does not exist.
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2. (a) Is the function el

differentiable at z = 17 Explain your answer.

- -8 _ L 2..2’)5*%
Limn SN -RQ) _ L +L

h->0" N
Limn ‘((‘fl""’“(n:‘ éiv 2= 2

Q_E'F“' desivatie - e - e
Since U-u% are not eciua( € iy not d € tiabl

a i x=)

2nl . M{L\oé: ’ -ﬁ s A!(‘C@’Q’\&\Qb% —:) -f S coa-linuoué

Siice 4 has adn {tw'%éfmfv%/ at x=1, ( £ canmob
L(., d .“(" Lore (,}za é.,,fg_"i £k ®rC

; . 2
(b) Find all points on the curve y = z where the tangent line is perpendicular to
the line y = 8z + 3.
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3. (a) Find an equation of the tangent to the given curve sin (zy°) = at the
point (—-Tr, 3)-
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) Show t‘,h\;:j the eq%on z® — 4z — 2 = 0 has a solution in the interval [-1,0].
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{a) Solve the initial value problem
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Where the solution is valid?
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(b) Show that the function f(r) = z + 2z has an inverse and find (f~')(3).
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